@ WEIGHT WORD PROBLEMS .

Name

WU:25

1)

A supermarket sold 2 t 1,433 |b of tomatoes on Monday and 3t 1,120 Ib
on Tuesday and 5 t 1,892 Ib on Wednesday. What is the total amount of
tomatoes sold?

Lara weighs 22 kg 700 g and her brother weighs 15 kg 589 g. Who weighs
more and by how much?

A chemist used 9 oz of a salt for an experiment. 8 batches of students
need to perform the same experiment in the laboratory. How many
ounces of salt is needed for all the 8 batches. Convert it to pounds.

Free food grains were distributed by an NGO in a small area. They had
4,800 |b of grains in all. If each street needed 320 Ib of grains, how many
streets would receive the food grains?
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@ WEIGHT WORD PROBLEMS .

Name

Answer key WU:25

1)

A supermarket sold 2 t 1,433 |b of tomatoes on Monday and 3t 1,120 Ib
on Tuesday and 5 t 1,892 Ib on Wednesday. What is the total amount of
tomatoes sold?

12t 4451b

Lara weighs 22 kg 700 g and her brother weighs 15 kg 589 g. Who weighs
more and by how much?

Lara,7kg 111g

A chemist used 9 oz of a salt for an experiment. 8 batches of students
need to perform the same experiment in the laboratory. How many
ounces of salt is needed for all the 8 batches. Convert it to pounds.

4.5 b

Free food grains were distributed by an NGO in a small area. They had
4,800 |b of grains in all. If each street needed 320 Ib of grains, how many
streets would receive the food grains?

15 streets
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